THIEERLABR LATMER (518 REMETENRERR

B3 —1
SM3E4A1H~SM3E12HA31H
R4 e e
Kogmiks [N20TEE 500 (5o en (BLADT> [BLAD T
HETA & #B(N) BHHEN) BHHE(N)
BEHTEREMN 1,574 1,069 0 0 67.9 67.9
el 1,574 1,069 0 0 67.9 67.9
b A RER 58 41 0 0 70.7 70.7
R HET 37 26 0 0 70.3 70.3
4 R ET 8 3 0 0 37.5 375
ZE@AF 4 3 0 0 75.0 75.0
AR il 9 9 0 0 100.0 100.0
shRTER R 1,555 1,115 0 0 71.7 71.7
shETTH 985 731 0 0 74.2 74.2
2R 177 113 0 0 63.8 63.8
E)TH 177 118 0 0 66.7 66.7
75 B EH 7 3 0 0 42.9 42.9
e iy ET 61 54 0 0 88.5 88.5
KESHT 29 18 0 0 62.1 62.1
HEEEH 58 38 0 0 65.5 65.5
R HNET 61 40 0 0 65.6 65.6
I\FEH&REm 1,396 1,004 0 0 71.9 71.9
J\F T 1,396 1,004 0 0 71.9 71.9
=R A RER 495 322 0 0 65.1 65.1
HLSEHT 210 139 0 0 66.2 66.2
= FH] 48 34 0 0 70.8 70.8
AFHT 74 41 0 0 55.4 55.4
H F-HT 21 17 0 0 81.0 81.0
FE BRET 75 48 0 0 64.0 64.0
B _E BT 62 38 0 0 61.3 61.3
AT 5 5 0 0 100.0 100.0
E AT R EFR 547 375 0 0 68.6 68.6
HFRIRET 265 186 0 0 70.2 70.2
DB 153 103 0 0 67.3 67.3
84 iR ET 21 16 0 0 76.2 76.2
R T 18 11 0 0 61.1 61.1
5 FH T 51 38 0 0 74.5 74.5
th ;R ET 39 21 0 0 53.8 53.8
E+=FEm 994 676 0 0 68.0 68.0
+FBAH 326 233 0 0 715 715
=R 303 202 0 0 66.7 66.7
LSkl 46 34 0 0 73.9 73.9
asy=1:]] 66 40 0 0 60.6 60.6
AVl 81 56 0 0 69.1 69.1
1 JECHT 13 12 0 0 92.3 92.3
5di) 98 67 0 0 68.4 68.4
7Ny AT 61 32 0 0 52.5 52.5
ODOBREAT 345 248 0 0 71.9 71.9
o 284 197 0 0 69.4 69.4
yNEilil) 31 22 0 0 71.0 71.0
BB 22 22 0 0 100.0 100.0
R EHM 3 2 0 0 66.7 66.7
{EH4 5 5 0 0 100.0 100.0
&t 6,964 4,850 0 0 69.6 69.6




RHSEERLARLAEMEE (B28) REFERAIRBRE [ 0.,
SM3E4A1H~SM3E12HA31H
RIERT4 e e
Kogmiks [N20TEE 500 (5o en (BLADT> [BLAD T
HETA & #B(N) BHHEN) BHHE(N)
BEHTEREMN 1,956 1,463 0 0 74.8 74.8
EH&HT 1,956 1,463 0 0 74.8 74.8
b A RER 93 50 0 0 53.8 53.8
R HET 50 36 0 0 72.0 72.0
4 R ET 8 6 0 0 75.0 75.0
ZE@AF 20 0 0 0 0.0 0.0
5%+ BT 15 8 0 0 53.3 53.3
shRTER R 1,943 1,723 0 0 88.7 88.7
shETTH 1,153 1,030 0 0 89.3 89.3
2R 220 187 0 0 85.0 85.0
ETH 251 232 0 0 92.4 92.4
75 B EH 14 13 0 0 92.9 92.9
e iy ET 111 94 0 0 84.7 84.7
KESHT 54 47 0 0 87.0 87.0
HELEF 49 42 0 0 85.7 85.7
R HNET 91 78 0 0 85.7 85.7
I\FEH&REm 1,655 1,398 0 0 84.5 84.5
J\PTh 1,655 1,398 0 0 84.5 84.5
=R A RER 579 460 0 0 79.4 79.4
BULHEHT 225 173 0 0 76.9 76.9
= FH 50 40 0 0 80.0 80.0
R FHT 82 61 0 0 74.4 74.4
HFHT 27 27 0 0 100.0 100.0
FE BRET 97 76 0 0 78.4 78.4
B _E BT 83 72 0 0 86.7 86.7
AT 15 11 0 0 73.3 73.3
E AT R EFR 728 622 0 0 85.4 85.4
HFRIRET 325 288 0 0 88.6 88.6
DhSH 187 159 0 0 85.0 85.0
84 iR ET 44 35 0 0 79.5 79.5
ZRIHET 29 29 0 0 100.0 100.0
5 FH T 84 63 0 0 75.0 75.0
th ;R ET 59 48 0 0 81.4 81.4
LE+=FEF 1,299 1,010 0 0 77.8 77.8
+FBAH 421 380 0 0 90.3 90.3
=R 322 251 0 0 78.0 78.0
87100 th BT 54 54 0 0 100.0 100.0
asy=1:]] 88 67 0 0 76.1 76.1
JNFHT 194 81 0 0 418 418
1 JECHT 21 14 0 0 66.7 66.7
5di) 122 101 0 0 82.8 82.8
7Ny AT 77 62 0 0 80.5 80.5
ODOBREAT 468 342 0 0 73.1 73.1
G Y] 386 267 0 0 69.2 69.2
yNEilil) 26 25 0 0 96.2 96.2
BB 42 36 0 0 85.7 85.7
JEN R ) 11 11 0 0 100.0 100.0
{EH4 3 3 0 0 100.0 100.0
&t 8,721 7,068 0 0 81.0 81.0




